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 SO WE'VE  FOUND  THE ( FAMILY OF ) ANTIDERIVADVE .
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WE 'LL  DEAL  WITH  THE LIMITS  OF  INTEGRATION .
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LET'S TRY THIS  WITH A CALCULATOR
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INTEGRATE !

STEP } Type THE LOWER LIMIT OF INTEGRARON , THEN PRESS Other

TYPE  THE  UPPER LIMIT OF  INTEGRATION , PRESS Other AGAIN

← THIS Is  WHAT you SHOULD END up  WITH
.

Notice  e2 .  @ = 4.67 . . .

SO  OUR  ANSWER  ABOVE AGREEG WITH  THE CALCULATOR
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- ISSUE :  THERE'S AN  X  LEFT IN  OUR  INTEGRAL .

SOMEHOW
,  WE  NEED  TO  REWRITE  X IN  TERMS  OF  U
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NOTICE : WE  HAD  U=Xt3
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SO  WE ALSO  MUST  HAVE  U -3  =X !
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du=3X2dX - WE  only HAVE  X2dX  In  THE  INTEGRAL
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↳ Notice :  2×3=2×(2/2) so ...  our  INTEGRAL  BECOMES :
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NOW :  u=  XZTI ⇒  U - 1  =  X ?  WE  CAN  NOW  WRITE  OUR  INTEGRAL  ENMRELY IN  TERMS  OF  U .
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 YOU MIGHT  TRY TO  LET  U= tte ?  WHY DOESN'T this  work ?]
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